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The double is four and the fifth is a 13 — NI RRRIT P28 X990

OVERVIEW

The Xn»721 states that if a person claims that the NP5 that was deposited by him
was stolen, and he swore to that effect and subsequently witnesses came and
testified that he stole the 1775 and he also admitted to it, the ruling (according to
2py° °27) is that he must pay 993 (for stealing) and bring an owX (for swearing
falsely) and the additional ‘fifth’ (which is usually associated with a false oath) is
19°532 1% 79, [Our m»doIn will discuss the meaning of this phrase.] The X723 then
continues that in normal circumstances when the 993 will be four o 171, the wnIn
will be a 171, why is the 1°532 1% 77279 wmn.
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According to the way °''w1 explains the phrase ‘that a fifth is counted for his

double’ to mean
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that he pays the 992 and through the %95 he is exempt from the fifth’ -
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There is a slight difficulty, what does it matter if the %53 is four and the fifth is
a 177, since he paid more than the wn he should be exempt from the wn1r.

mooIn offers s™"wA answer to this question:
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However °''w9 explained that there will be no atonement in this w3, if the 555
is greater than the w»n, since the wnn is not evident and it is ‘swallowed’ within
the o2.

mooIN proposes an alternate explanation:
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And if he would have explained Y2°222 Y» 79 W=7 to mean that he pays the
w»7 and it is counted for the %23, then -
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* The defendant is not obligated to pay the owner an additional fifth if he pays the 95.

3 If the %92 would be the same as the W, he would be Mwd from the wmn (if he pays the 93), then certainly if the
593 is greater than the wnn that he should be 7w» from the wimn if he pays the 292.

4 (2,70) ®9°93 7" 721 DW.

> There is no payment of a 1 which is the proper wmn.
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It would be understood for it is a proper question. If the 99> is four 111 and the wmn
is a 1, how can paying the wnn of one N1 be considered as paying the 995 of four o nr?!

mooIN negates the proposed interpretation
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However the word Y2°222 (in his ®22) does not indicate so; for if the meaning is that
the wmn substitutes for the 993 the Xn>>12 should have stated 1°53% 12 79 WmM not 172°532.
Therefore the interpretation of "1 is the correct one.

mooIn brings additional support to >"w15:
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And in the Xno9In the text reads ‘and its w23 is counted for him from within

the %92’; indicating strongly that the 993 payment substitutes for the wmn payment as >"@
explained and not the reverse that the wmn substitutes for the 993.

mooin offers an alternate explanation:
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And the R''2"9 explained that the question is on the phrasing of the Xn=2
(when it states 17°922 1% 77w wnm), which seems to indicate that the fifth is the

equivalent of the %55 (which in many cases it is not so; for the 793 is usually greater than the
fifth).

SUMMARY

The meaning of 17°502 17 777w WnIn is that the payment of the 995 (if it equals the
wnn [according to >"wA]) substitutes the payment of the wn (and not the reverse).
According to the X"2 the 99> payment substitutes the wmn if it is equal to or
greater than the wnr.

THINKING IT OVER

1. According to the X"23 who maintains that the 99> substitutes for the wmn
whenever it equals or exceeds the wnin (which it does in almost all instances);7
why indeed did the Xn>92 phrase it in a manner that indicates that the 993 equals

% It would seem that according to the X"27 if the 792 is greater than the w1 then the 995 substitutes for the w»n and
no w»In payment is necessary. It is just that the "% of the Xn>11 is not clear. See ‘Thinking it over’ #’s 1 & 2.
7 See footnote # 6.
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the wmn (exactly) which happens only in rare occasions.®

2. According to the R"2> (that the 795 always exempts from the wmn even if it is
worth more) what would be the NP7 between 2p¥° ' and the onon?’

8 See n"m.
% See 112 7w 7"nx.
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